Palindromes (simplified)

grammar Palindrome

nonterminal P(2), S(0);
terminal a(2), b(2);
start S;
SO ::= P(x,y) [init]
P(x,y) ::= a(x,u) a(v,y) P(u,v) [aPal
| b(x,uw) b(v,y) P(u,v) [bPb]
| a(x,u) a(u,y) [aal
| b(x,u) blu,y) [bb]
end
State go(a,b) State g4(a, b, c,d)
S() — «P(a,b) P(a,b) — a(a,c)a(d,b) . P(c,d)
P(a,b) — .a(a,n1)a(ny,b) P(c,d) — .a(e,ny)a(ng,d)
P(a, b) — .a(a,ng) a(ng, b) P(ng,ng) P(C, d) — .EI(C7 77,2) a(’I’L3,d) P(’I’Lg,’I’L3)
P(a,b) — .b(a,n4) b(ng, b) P(e,d) — «.b(e,nq) b(ng,d)
P(a,b) — .b(a,ns) b(ng, b) P(ns,ng) P(c,d) — .b(e,n5) b(ng, d) P(ns, ng)
P(nmnl)
P(no,n1) ng=c,n =d a7(@b,n0,m1)
ng = a,ny —b qg(no’nl) (
a(n ’ 2 nOanl) (J1(n07d>n17d)
07”1) b b ng = ¢, an
o — a nT Q1(n05 , N1, )
0 — &, 71 b(no,nl) d d
b(’ﬂ n ) _ q2(n07 , N1, )
pe i da(no. b,y b) mo = &t
0o — &, 1]
State gs(a, b, ¢)
State q1(a, b, c, b) ’ P(a,b) — b(a,c)b(e,b). [bb] ‘
P(a,b) — a(a,c) « a(n1,b) P(e,nq) State gg(a, b, c,d)
P(a,b) = a(a,c) . a(c,b) P(a,b) — b(a,c)b(d,b) . P(c,d)
P(e,d) — «a(e,n1)a(ng, d)
P(e,d) — .a(e,n2) a(ng, d) P(na,n3)
flg”i’ ’c“fh —— gs(a, 1, o) Pc,d) — b(c, n4) b(n, d)
a(ng,n1) P(e,d) — .b(e, ns) b(ng, d) P(ns, ng)
n T ;1 —=b q4(a,n1,c,n0)
o P(ng,n1)
ng =c,n = d qS(G/?b?nO?nl)
State gs(a, b,c,b) a(ng. my) q1(ng,d,n1,d)
P(a,b) — b(a,c) « b(ny,b) P(c,n1) no = ¢,mt
P(a,b) — b(a,c) . b(c,b b(rg,n1)
(a,5) = bla,¢) - b(e,b) bl ) o (g, k. d)
b(ng,n1) (a,n1,m0) State gr(a,b, c,d)
no=c,n =b ~ BB [P(a,b) — a(a,c)a(d,b)P(c,d). [aPd]]
b(ng,n
n(()T?nl z b g6(@,n1,¢,no) State gs(a,b,c,d)
[beH

State gs3(a, b, c)
[P(a,b) — a(a,c)alc,b).

State go(a,b)
[ S() = P(a,b)

’ P(a,b) — b(a,c)b(d,b)P(c,d).

[ad]] [inid]]




